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Run 4541 triggerwise, sums: All

Entries: 4002891

Mean: 4986.0131 +/- 2.4318

Std Dev: 4865.3767 +/- 1.7195

Run 4541 triggerwise, sums: All
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Run 4541 triggerwise, sums: Beam OFF

Entries: 4881

Mean: 1270.5325 +/- 8.7037

Std Dev: 608.0740 +/- 6.1544

Run 4541 triggerwise, sums: Beam OFF
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Run 4541 triggerwise, sums: Beam ON, Laser ON

Helicity==0

Helicity==1
Entries: 1185718

Mean: 5960.5645 +/- 5.2969

Std Dev: 5767.8074 +/- 3.7455

Entries: 1185134

Mean: 5960.3224 +/- 5.2917

Std Dev: 5760.6973 +/- 3.7418

Run 4541 triggerwise, sums: Beam ON, Laser ON
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Run 4541 triggerwise, sums: Beam ON, Laser OFF

Helicity==0

Helicity==1
Entries: 764769

Mean: 3529.2721 +/- 2.6941

Std Dev: 2356.0461 +/- 1.9050

Entries: 763913

Mean: 3531.9486 +/- 2.6842

Std Dev: 2346.0268 +/- 1.8980

Run 4541 triggerwise, sums: Beam ON, Laser OFF
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